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Topic: Percentiles and Z-Scores Name:

What am I learning today?

Warm Up Construct a dotplot of the data set for class height in inches.
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Using a calculator, find the mean and standard deviation for the distribution of
the class’ height.

X=6596 S =451

Main Ic!eas[ Notes
QP:(:;:& Th data value tells us what percent of the observations fall
ekt eSS om I to it.
The lowest score is in the "* ercentile. There is not a 0‘.M percentile.

The highest score is in th rcentile. There is not a percentile.

Examples Calculate the percentile for the following heights using the dotplot

=H_ - n . (ms above.

1) 67 inches
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Explain in words what it means to be in the....

2) 62 inches

1) 60t percentile for a height of 66 inche

(0. of ¥he pesple are bin oe;s(km.

2) 25" percentile for test score of 30%.
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Topic: Percentiles and Z-Scores Date:
Main Ideas/ Notes
Questions

Recall: A &V \ 03"!"“-'5 a measure of spread. It

shows on average how far the data is from the mean.

A z-score shows how many S" m& J Mah's a data

point is from the mean.

Z-Score
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A positive z-score is alcow/n- the mean, and a negative z-score is
the mean.
A z-score is typically between = 5 and 3 .

Muc Calculate the z-score for the following heights using the mean and

standard deviation above. ©2- ‘ﬁ.qb

R
Z —-Score l)ches Z@inches %:E

= (7= 6596 .
® aLws z-%’q—sﬁ,—.—- 5= -0.9% ]

RouwnNnd 3o 1.;‘51 .2
2 clec.ii,) 2 82-635¢

*3.50

/—
—
— Explain in words what it means to have a z-score of....
——_—_’— [ 6 ” dw .
1) Z=2.5 for a height of 75 inches TSIN. 1§ 2. .

AGWVE e meom.

1) Ava scgres an 8?on her biology test. The distribution of biology scores have a
mean of‘?

scores a Y0 with a class mean of 96 and standard deviation c(S)Nhich test did
she perform better in comparison to her classmates? Explain. ‘

82 and a standard deviation Ava takes a physical science test and
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